3.3 Graph Using Intercepts (work).notebook November 14, 2023

GRAPHING LINES USING INTERCEPTS

x-intercept- the x-coordinate of a point where
a graph crosses the x-axis

e To find the x-intercept, substitute O for y
and solve for y.

y-intercept- the y-coordinate of a point where
a graph crosses the y-axis

e To find the y-intercept, substitute O for x
and solve for x.

EXAMPLES

Identify the x- and y-intercepts of each graph below.
i Y

1. 2. '

K-t =-Y X-int= 8
\l-iY\t= 2 ‘{*FM:S
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. X <o .
Find the X-infercept &f each equation.
3. 5x+2y =20 4. 2x-3y =6

Sx £2607 = 20 2X-360) =06
SX = 20 X = &
S S 2 73
x=4 X=23

\wg 6 \n o
Find thepx-i?\tergep{& each equation.

5. 5x+2y =20 6. 2x-3y =
SEEY+ 2y = 20 UV -2y = ¢

2y = 20 T3y = G
_731 2 -3 -3
y=10 y=-2
Jams=1o ¥t -2
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Find the x- and y-intercepts of the equations below.

7. 3>< 4y = 12 8. -5x + 4y = 2

X-in N=int X-int y=int
3x—yéo‘f- 12 30T-d4y=12  —Sxiydf=2 KO +uy=2
2x=12 12 Z5x=2 D=2
3 3 :7} -9 -5 -5 7 4

- — = .2 = é
X=H4 7 3 X*r 5 yor
= o
X-ms=Y A y= 0.5

MAKING A QUICK GRAPH

STEP 1: Find the intercepts.
STEP 2: Draw a coordinate plane that includes intercepts.

STEP 3: Plot the intercepts and draw a line through them.

9. Graph the equation of 3x + 2y = 12 using intercepts.

X-int y-1nt i
3x+200)= 12 5607 ¥2y =12
3= 12 Zy=lz
'3— 3 2 2 A ‘
X=4 y= 0 4
X-int=1 Y-int=(
(4,0) (0,6)
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10. Graph the equation of 4x - 5y = 20 using intercepts.

X=int ¥
4x-5(0Y=20 ,%65 -5y=20
Hx =120 —-5Sy=20
54 Y -5 =5 -7
X=5 \/-.:-'l-’ i
X-int=5 Y-int=-4 ,«’/ "
(5,0) (0,-4) 124
L

11. You make and%ﬁ&ecorative bows. Small bows
are sold for $3 and large bows are sold for $5.
You want to earn $60 per week. _This situation
can be modeled by the equationEx + 5y = 60, B
where ; bows and

a) Find the intercepts of the graph.

b) Graph the equation.

c) Give@hree possibilities TYr the number of each
type of bow you can sell to earn $60.

y-int S

x+$€6Y=(oo &665+SL
3X= 6P Sy<eQ

va‘c=20 \“M:& I(: !

(ouz)e 0 ?mfo,)"e bom‘*’s S

([0)6)—~ lo ?mall bow$: S~

740)

5,9) = S Dmal| bows
(5:2) ? large, bows o
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